
Announcements, Review HW
Lab Quiz
Pre‐lab Lecture

Where we are/going 
DNA Ligation, part 2
Bacterial Transformation
Controls, Expected Outcomes
Safety + Technical  Tips 



Old HW, problem 2

Enzyme activity measure in arbitrary units U
1 U = amount of enzyme to digest ____ DNA  
within ____ at _____ in total of ______

Will 75% XbaI and 100% EcoRI activity always give a 
3:1 ratio of double‐cut to single‐cut product?



Old HW, problem 1



Where we are/going



DNA Ligation

Reaction creates

Reaction requires

h f ff i ld?What factors affect yield?

How do we assess if it worked?



Bacterial transformation



DNA Amplification in Bacteria

Plate bacteria + DNA mixture

Why grow/test multiple candidates?



Ligation Controls + Outcomes

Sample Expectation Role

pCX‐EGFP

no DNA

bkb + ins, 
no ligase

bkb + 
ligase

bkb + ins,  
+ ligase



Ligation Controls + Outcomes

Sample What if?

pCX‐EGFP none

no DNA some

In general, keep in mind:

bkb + ins, 
no ligase

many

bkb + 
ligase

many

bkb + ins,  
+ ligase

none



Today in Lab

• Keep ligase and ligase buffer (ATP) cold

• DNA precipitation after ligation reaction
– Yeast tRNA

E h l– Ethanol

• Be gentle with competent cells

• Sterile technique for transformations – demo


